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A nurse recoraed the birthweight of babies at
a hospital.

# of Babies

03 38 69 9121216 1618

Weightin.lbs.

Which set of data does this represent?

A. 2.41bs, 2.8 Ibs, 3.1 Ibs, 7.4 Ibs, 8.5 Ibs,
8.6 Ibs, 9.2 Ibs, 11.0 Ibs, 13 Ibs, 14 Ibs

B. 2.3 Ibs, 3.4 Ibs, 5.2 Ibs, 6.5 Ibs, 7.4 Ibs,
8.2 Ibs, 9.2 Ibs, 9.8 Ibs, 10.2lbs, 12.4 Ibs

C. 2.91bs, 4.5 Ibs, 4.8 Ibs, 6.2 Ibs, 7.1 Ibs,
8.4 Ibs, 8.9 Ibs, 9.4 Ibs, 10.2Ibs, 14.1 Ibs

D. 2.3 Ibs, 3.4 Ibs, 5.2 Ibs, 6.5 Ibs, 7.4 Ibs,
8.21bs, 9.2 Ibs, 9.8 Ibs, 10.2lbs, 15.7 lbs
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A box plot is given.

TH
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What percentiles does the box portion of the
plot represent?

A. the 45" to 55 percentile
B. the 40" to 60" percentile
C. the 25" to 75" percentile

D. the 57 to 95™ percentile
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A box plot Is given.

When looking at a box plot, what does the
line separating the two boxes represent?

A. mean
B. median
C. mode

D standard deviation




image9.png
The data below shows the number of hours
spent by each student to complete a math
assignment over a week.

11,3, 8,10, 4, 10, 5,10, 6,9, 7,9, 7, 8,9

Which dot plot best represents the data?
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As a part of a management survey, Javier
records the number of year’s experience the
managers of 15 stores have.

19, 10, 8, 11, 14, 13, 11, 13, 18, 20,
23,12, 13, 14,10

Which box plot best represents the data
collected by him?
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The table shows the payroll for a small

business:
Employee | Salary | Employee | Salary |
June 30,000 Luke 35,000
Ray 35,000 Cody 27,000
Gaye 28,000 Max 34,000
Hugh 26,000 Bo 20,000
Ashley 50,000 Anna 40,000
Joe 500,000 | Heather | 42,000
Alec 450,000 Holt 38,000

What would be the mostappropriate measure
of center for the salaries?

A. interquartile range

B. standard deviation

C. mean

D median
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The table shows thecats that participated in a
pet show.

Weight
Cats in
Pounds
Fluffy 6
Spot 16
Mittens 8
Mr. Kitty 7
Snowflake 14
Pepper 7

What is the median weight of the cats?
A. 7 lbs

B. 7.5 Ibs

C. 81lbs

D 16 |bs
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The table shows the results of 4 equally-sized
classes of students who took the same test.
Anyone who scores lower than 70 will fail the

test.
Standard
C=3 iesn Deviation
1 60.00 2
2 75.00 5
3 85.00 3
4 88.00 10

Which of the classes is most likely to have no
one fail the test?

A. class 1
B. class 2
C. class 3

D class 4
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You are at the beach and walk up to a
restaurant. The menu with prices is posted
next to the door.

Food Price
Pizza 2.50
Cheeseburger | 2.00
Ice Cream 1.50
Lobster 20.00
Lasagna 7.00
Hot Dog 1.25
French Fries | 3.25

Referencing price, which of these foods
would be considered an outlier?

A. lobster
B. hot dog
C. pizza

D ice cream
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Mr. Ashford teaches math to grade 9 and
grade 10 students of a school. He recorded
the test scores for a set of 10 students from
each grade.

Grade 9 (Grade 10|
89 91
78 85
92 99
98 70
69 69
70 85
73 69
84 92
86 87
67 72

Which statement is true?

A. The range of scores for the students from
grade 9 is 31 while for grade 10 it is 30.

B. The range of scores of the students for
both grades is 31.

C. The range of scores for the students from
grade 9 students is 30 while for grade 10
itis 31.

D. The range of scores of the students for
both grades is 30.
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The box plot shows the scores of 10 stuaents
in 4 different subjects.

¥ Scores of Students in Four Subjects

English T
Math e
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Which statement is true?

A. The interquartile range of scores of
students in science and English is the
same.

B. The interquartile range of the scores of
students in social science and math is the
same.

C. The interquartile range of the scores of
students in social science is greater than
that in science.

D. The interquartile range of scores of
students in science is greater than that in
math.
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For a school project Amber decides to create
a histogram of the cars passing by the front
of the school on a typical school day. She
starts counting an hour before the school day
starts and stays 3 hours after the school day
ends.

Cars Passing in Front of the School

0
40

cars 30

78 oM 14 13 35 &7
AM AM AMPMPM PM  PM

Times

Which statment is the mosdikely explanation
for this distribution?

A. Unannounced parades of cars occurred
during the two period of increased traffic.

B. The two periods with higher traffic are the
times when students are coming to school
in the morning and leaving it in the late
afternoon.

C. Along car race was taking place where
the school was the start and finish line.

D. There were two huge sales at a store
nearby. One was only good from 7-9am
and the other from 3-5pm.
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Latoya owns a car factory. One of her
machines is occasionally producing steering
wheels that are too big to use. She decides
to look at statistical data to see which one
might be the problem. The mean size of a
steering wheel produced for each of the four
machines is about 14 inches. If a steering
wheel is larger than 20 inches, it must be put
in the trash.

Which of these four machines is mostikely
the one broken?

A. Machine 1:
standard deviation= 1.5 inches
interquartile range= 1.2 inches

B. Machine 2:
standard deviation=>5.6 inches
interquartile range=1.3 inches

C. Machine 3:
standard deviation=1.4 inches
interquartile range=1.3 inches

D. Machine 2:
standard deviation=1.6 inches
interquartile range=1.5 inches
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An extremely large 4 pound mouse escaped
from her cage at the lab. John, who works at
the lab, caught the mouse but needs to guess
which cage this mouse was originally in.
There are four mouse cages in the lab, each
labeled with statistical information.

Using this data, from which cage did the
mouse most likely escape from?

A. Mean: 1.3 Ibs, Median: 1.4
B. Mean: 1.2 Ibs, Median: 1.3
C. Mean: 1.3 Ibs, Median: 1.2

D. Mean: 2.1 Ibs, Medial

4
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These are the charts of 2 basketball teams.

Team 1 Player's Height

5

4

No. of
Players 5
2
1
58 510 60 62 64 66 68
Height
Team 2Player's Height
I
|
s B
4
No.of
Players g |

2

1

58 510 60 62 64 65 68

Height

These teams have the same average height,
but one contains the tallest kid in school.
Which team is he on?

A. Team 1

B. Team 2

C. Itis impossible to tell from the charts.

D. There are 2 players on each team who
share the tallest height.
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The table represents the height of students in
a class.

Height
Student | i 'g“)
i | 59 |
2 54
3| 57 |
) 56
5 55
6 52
7 56
8 58
9 52
10 52
11 53
12 55
13 53
12 57

Andy joins the class from another school. If
the lower quartile of the data was the same
as his height, what was Andy’s height?

A. 5.3ft

B. 5.4ft

C. 5.5ft

D 5.7ft
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The box plot represents the midterm scores
of the students in a class:

Students Midterm Scores

o B S

30 40 50 60 70 80 90 100
Score

What percent of the students had a score
greater than or equal to 50?

A. 25%
B. 50%
C. 75%

D 90%
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Alex and Melissa attend the same school. For
a school project Alex creates a table of the
snacks that each of them buys from the lunch
counter in a week.

Gum | Peanuts | Total
Alex 3 3 6
Melissa 5 5 10
Total 8 8 16

What is the relative frequency of Melissa’s
peanuts to the total of Alex and Melissa’s
peanut purchases?

A.
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This is a frequency table of what students
read during study hall.

Romance | Comics | Total
Men 2 8 10
Women 6 3 9
Total 8 11 19

Which value represents the joint frequency of
men who read comics?

A 2
B. 6
C. 8

D 10
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The table below shows the result of a survey
conducted among a group of students to find
their favorite ride in an amusement park.

Favorite Amusement Park Ride

Spinning Tops
| skyslide | 15 20 | 35
|_Total | 51 49 [ 100

What is the conditional relative frequency of
the grade 5 students who like roller coasters?

A. 0.12
B. 0.14
C. 0.27

D 054
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The East City Volunteer Fire Department
sells calendars as a fundraiser every year.
They sold 318 calendars in 2000, and 463
calendars in 2005. Assuming a linear model
for the number of calendars sold, how many
calendars will they sell in 2010?

A. 29
B. 290
C. 508

D. 608
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A Dasketball coach decides to create a linear
regression model of player’s height (h)in
inches and the number of rebounds (r) they
get in a game.

= Lheo
T

Matt got 3 rebounds and is 60 inches tall.
What is the residual for Matt?
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Jane is trying to figure out the average
residual of a linear regression model. Joe
walks in and tells Jane that he doesn't need
to calculate all the residuals because he
already knows the answer. If possible, how
does he know this?

A. It is impossible to know the answer
without calculating the residuals first, then
averaging them.

B. All linear regression models’ residuals
have a mean of 0.

C. All linear regression models’ residuals
have a mean of 1.

D. It is impossible to calculate the residuals
therefore impossible to calculate the mean
residual.
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The relationship between the percentage
increase in a person’s weight and the change
in the number of calories consumed is shown
in the scatter plot below.

e
Which of these residual plots correctly
interprets the information shown in the above
graph if the equation of line of best fit is
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The scatterplot shows the heights of bean
plants after 10 weeks' growth under

various amounts of light.
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Using the line-of-best fit, what is the best
prediction of the height of a bean plant
exposed to 24 hours of sunlight a day?

A.15cm
B. 23 cm
C. 28 cm

D. 40 cm
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The grades on a test versus the number
of hours studied were plotted for a group
of students. Which graph shows the best

linear fit for this data?
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Kyle wants to buy a new Xbox 360. He puts
$25 into a savings account and plans to
contribute $25 each week to the fund. The
graph illustrates how his savings will increase.

Xbox Savings Fund

100
50

012345678310
Number of Weeks

Amount Saved (s)

What does the slope of the line represent?

A. the number of weeks Kyle will save for his
Xbox

B. the average price Kyle will pay for his
Xbox

C. the amount of money Kyle will save
each week for his Xbox

D. the cost of the Xbox divided by the
number of weeks Kyle will be saving
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The scatterplot shows the price of gas per
gallon.
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Based on the trend line, which is closest to
the expected price of 11 gallons of gas?
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The scatterpiot displays data for the number
of hits for the times at bat.
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Which conclusion is best supported by the
scatterplot?

A. No relationship exists between the
number of hits made and the number of
times at bat.

B. The number of hits made is constant with
the number of times at bat.

C. The number of hits made decreases with
the number of times at bat.

D. The number of hits made increases with
the number of times at bat.
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The scatterplot shows the projected costs of
a 4-year education at a public university over
the next several years.

4-Year College Costs
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Based on the trend line, which is closest to
the expected cost at a 4-year college in
2030?

A $25,000
B $23,000
C $21,000
D $20,000
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Which scatterplot shows the relationship
between a student’s score on a quiz (x) and
the number of correct answers (y) the
student received on the same quiz?

Id
NumberofCorract Arwars

Quirscores

o
Number of Carractbnowers  Numbarof Crrecthnewars  Number of Carroct Arnewars





image37.png
The scatter plot represents the relation
between the change in the current through a
circuit as the resistance is varied.
Change in the Current through
y a Circuit with change in Resistance
10 .

Current (in amperes)

0 5 10 15 20 25 30 35 40 45 SO
Resistance (in ohms)

Which of these linear models best represents
the equation of the line of best fit for the
above scatter plot?

A. 20y =3x+154

B. 20y = 3x+154

C. 3y = 20x+154

D. 3y = 20x +154
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Using the information in the table, what type
of correlation is suggested between the 2
sets of data?
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A. strong positive correlation
B. weak positive correlation
C. strong negative correlation

D no correlation
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Donald was trying to figure out why certain
basketball players got more rebounds in a
basketball game. He decided to model the
number of rebounds with the heights of the
players. The correlation coefficient is
calculated to be r= 0.91. What conclusion
can Donald make about the strength of a
relationship?

A. It completely explains why some players
get more rebounds than others.

B. That height has a lot to do with how many
rebounds a person gets.

C. That height doesn't explain very well
which players get more rebounds.

D. This coefficient does not give us any
information about the strength of the
relationship.
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The following is a list of how long a fire
department has been using a truck and the
number of problems each truck has had this
year. The fire chief wants to know what
correlation there is between the number of
years in service and the number of problems
to help him figure out when it is time to
replace trucks.

Years | Problems | Years | Problems
1 3 4 8
2 5 4 7
2 4 5 7
2 7 6 6
3 6 6 6

Approximately, what is the correlation
coefficient?

A. -0.55
B. -0.31
C. 031

D 055
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Two Danks A and B introduced different
saving schemes for their customers. The
tables show the amount earned by both
schemes on an investment of $ 1000 for

different periods of time.

Bank A Bank B
Amount | Time Amount | Time
(in dollars) | (in year) | |(in dollars) | (in year)
1160 2 1225.04 3
1400 5 1402.55 5
1720 9 1718.19 B
1880 11 225211 12

Which of these statements is true?

A. The amount earned in Bank A can be
represented by a linear function while the
amount earned in Bank B can be
represented by an exponential function.

B. The amount earned in Bank B can be
represented by a linear function while the
amount earned in Bank A can be
represented by an exponential function.

C. The amount earned in both cases can be
represented by an exponential function.

D. The amount earned in both cases can be
represented by a linear function.
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The table shows the initial amount Mike and
three of his friends deposited in savings
accounts of different banks and their returns
over three years.

Initial |Amount (in dollars)
Deposit [ ou | 3w |
(in dollars) | year | year | year
Mike | 1,000 | 1,100 | 1,200 | 1,300
Laura 2,000 2,200 | 2,420 | 2,662
John [ 3,000 | 3,300 | 3,600 | 4,100
Linda| 4,000 | 4,400 | 4,840 | 5,200

Which of these statements is true?

A. Mike's investment is growing linearly;
John's investment is growing
exponentially

B. Laura’s investment is growing linearly;
Linda’s investment is growing
exponentially

C. Mike's investment is growing linearly;
Laura's investment is growing
exponentially

D. Laura’s investment is growing linearly;
John's investment is growing
exponentially
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What woula not be used to predict the
number of cars manufactured at an auto
plant?

A. Number of workers working in the plant.

B. Amount of steel ordered by the plant.

C. Number of machines operating in the
plant.

D. Wages of the workers working in the
plant.




image4.png
Bernice charts the numoer of hours each of
her friends watches TV each day.
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What type of chart does Bernice use to
display her results?

A. dot plot
B. histogram
C. box plot

D. bar graph
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This dot plot shows the number of hotdogs
bought by each individual customer.
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Which data set is displayed in this dot plot?
A.0,001,1122333,3,45
B.0,001,1222333,345

€. 0,0,01,1,1,22233,345

D.0,00,1,1,1,2,23,3,3,3,55




